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Ne HauMenoBanue 6aro1a Kajopuii
Ot 1.5 no 3x jer nopuHH HOCTD
1) Kanra mueHuyHas MOJIOYHAst 150 133.96
= KUOKass -
‘g‘ 2) Yaii ¢ MOJIOKOM 150 126.19
S 3) ByTep6poa, ¢ MOBHANOM 30/15 | 156.0
=~ & J Coxu oBOUIHEIE, GPYKTOBBIE H 150 | 70.12
& S ATOMHBIE
1) CanaTJ:“éds CBEKJIBI C sO0JTOKaMH 30 29.01
2) Cyn x3prodensusiii ¢ Macueiva | 21/129 1€1.0
E dprkanenLKaMi 28.8
% 3) I1noB 13 roBsMIE! 40/120 |182.39
4) KoMIIOT U3 CBEXUX ILIOAOB 150 48.0
5) Xneb pxanoit 35 69.33
g 1) CeIpHUKH U3 TBOpOTra, COYC 125/20 |301.6
= MOJIOYHBIN (CJTaIKHiA) 20.3
S | 2)Kedup 125 |67.26
3 3) Xne6 nmeHuyHbIH (6aTOH) 28 71.0
§ 4)Konnurtepckue uzaenus(medyeHne) 17 100.0
g 5) Inomel ¥ AroABI CBEXHUE 90 72.15
§ (s16710K0)

Bceero:

1628.16
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Ne3 HanmenoBanue 6.io1a ’l‘;-‘? Maoe:
Or 3x g0 7Mu et s ]
1) Kamia nmenndHas MoJo9Has
g KUaKas
§ | 2)Yait c monokom 180 | 148.45
X 3) Byrep6pox ¢ noBuIOM 37/26 |156.0
= § g Coxku oBougsle, PpyKTOBBIC 1 190 89.03
N ¥ § AroaHsie :
1) Canat u3 CBEKJIHI ¢ S0JI0KaMH 50 48.35
2)Cyn KapTO(peHBHBM c MscHbME - | 22/178 | 108.0
o bpukanensKkaMu 28.8
§ 3) IL10B U3 rOBSIMHE 25/ 175 | 224.51
4) KoMIoT U3 CBEXXHX IION0B 180 57.6
5) Xneb pxaHoit 40 86.67
X 1) CeipHUKH U3 TBOpPOTa, coyc 130/30 |324.8
§ MOJIOYHBIH (CraaKuit) 30.45
= 2) Cuexok 158 88.34
'3 3) Xne6 nieHnYHsbIH (6aT0H) 29 95.0
§ 4)KoHnurepckue usenus(rieuetne) 17 100.0
§ 5) IInoAB! ¥ ATOIBI CBEXKUE 90 90.6
S (26710K0) /
S
Beero: 2007.40




